Geometry – Unit 6
MIMEO 1
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For Problems 1-16, refer to parallelogram DECK.




     
1. If DE = 10, KC = ________.
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2. If DC = 18, DT = ________.
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3. If m(EDK = 100, m(ECK = ________.

4. If m(DEC = 75, m(KDE = _________.

5. If m(1 = 30 and m(2 = 40, m(KCE = _________.

6. If m(1 = 30 and m(2 = 40, m(3 = _________.

7. If m(3 = 36 and m(2 = 44, m(KDE = _________.

8. If DT = 7 and KT = 9, CD = _________.

Find the value of x or y.

9. DE = 5x and KC = 3x + 12

10. DK = 2x + 5 and EC = 47 – 4x

11. ET = x + 3 and EK = 22

12. DT = ½x and TC = 10

13. m(KCE = 6y – 20 and m(EDK = 2y + 80

14. m(DEC = 80 – y and m(DKC = y + 40

15. m(1 = y + 10, m(2 = 3y, and m(3 = ½y + 15

16. m(DEC = 
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